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AP60/APGOW 1538 9:30~10:45 254%F 11:40~12:55

NEr| 518 | &% FE| 1% EF4 g 1 2 3 4 5 6 |[XB&a| §

1 2 5 [ M KiE Rl #HE)IE 87 94 89 91 89 92 9 542
2 | 1 6 |M| HELE BA TR 92 92 95 86 85 86 7 536
3| 2 3 |w| BH MNE BB K= 88 87 88 88 89 83 1 523
4| 2 4 | M | £ TR 83 80 87 89 85 82 2 506
OP| 1 7 M| #E IEH EER 88 74 86 86 83 86 4 503
5 | 1 4 |M BA E TR 81 88 82 77 86 76 2 490
HR40 1598% 9:30~10:30 2548 11:40~12:40

NEr| 518 | &% FE| 1% EF4 g 1 2 3 4 |XBl&E| &

0

ARG60/ARGOW 1598% 9:30~10:45 2548 11:40~12:55

NEr| 518 | &% FE| 1% EF4 g 1 2 3 4 5 6 |[XB&a| §
OP| 2 14 |W| WX FE E 104.9 [102.3 |104.6 | 105.4 |103.7 [103.2 | 45 |624.1
1 1 10 |W| [UA BF |[t%>av¥I)L—F|[103.3 (1029 [105.7 |102.1 [103.3 1035 | 43 |620.8
2 1 11 |W| Fl x&H EBRKE 103.0 |102.7 |102.1 |103.7 |105.1 |101.8 | 42 |618.4
3 | 2 16 | M| /R 2Rk =% 103.2 [ 103.9 [100.7 | 104.2 |101.6 |101.9 | 43 |6155
4 | 1 14 |W| WX FE E 102.7 | 99.9 [102.0 |102.8 |{103.8 [102.7 | 38 |613.9
5| 2 15 | M M = IR 102.0 |102.4 |100.8 |101.5 |102.7 |101.6 | 37 |611.0
6 | 1 13 |M| KA #A E 100.0 | 101.7 [103.7 | 102.8 |101.4 |100.2 | 34 |609.8
op| 2 13 |W| A% Y g 103.0 | 988 [100.8 |103.4 |100.8 |100.7 | 34 |607.5
71 1 12 [M| 8RB &EZm IR E 98.5 1009 [100.3 |101.6 |103.5 |100.7 | 34 |605.5
OoP| 2 17 |W| B8 EF B 95.3 | 980 | 969 | 996 | 978 |100.3 | 21 |587.9
E—LEEI[E+E]
BR60J/BR60WJ 1518 9:25~10:10 2548 10:40~11:25
NEG| 548F| 5% RE| 1% EF4 BilE] 1 2 3 4 5 6 |XB&E| E

1 1 21 |M| FIE it = 103.7 [ 100.8 | 100.4 | 104.6 |1015 [102.6 | 11 |613.6
50mExFE (B - /\#K]

FR3P/R3P 1518 9:40~11:10 2548 11:50~13:20

NEr| S8 | 5% FE| 1% EF4L BilE] K1 K2 P1 P2 S1 S2 |XBm| &

1 2 8§ |W| WH B#F |E¥xiavdiL—7 96 97 100 | 97 90 93 27 | 573
2 | 2 4 |M| EH EBKXK |EFXTavsi—7 93 96 97 94 97 90 16 | 567
3| 2 10 |W| Il RH ERKE 88 96 95 97 95 94 15 | 565
4 | 1 3 | M KIE B iR E 78 81 88 86 51 65 3 449
oP| 2 2 | M| B BA AR 83 91 94 87 0 0 6 355
FR60PR/R60PR 1518 9:40~10:30 2548F 11:50~12:40
NEr| S8 | 51 FE| 1% EF4 BilE] 1 2 3 4 5 6 |[XB&E| §

1 2 18 | M| BXx #E iR E 101.2 [101.4 | 99.6 |103.0 [103.5 [102.7 | 26 |611.4
2 | 1 9 |M| EH B |EXIavsdIL—TF| 992 |1044 [101.1 |101.5 [100.7 |100.3 | 26 |607.2
3| 1 15 | M| AR &3 BER 96.3 |102.3 [101.5 |101.0 |101.6 |103.6 | 22 |606.3
4 | 2 20 [m| & =i IR E 95.1 [100.3 [101.3 | 98.2 [102.1 [103.6 | 22 |600.6
5| 2 22 |M| KA #A E 97.4 [101.9 [102.3 | 996 | 99.1 |100.3 | 16 |600.6
6 | 2 14 |[M| *xm\ %= IR E 989 | 993 | 956 [100.6 | 99.2 | 995 | 20 |[593.1
71 1 5 M| NEE % IR E 96.4 | 980 | 96.9 | 98.3 |100.5 | 999 | 16 |590.0
8 | 2 16 | M| mBE@E Bx IR E 96.0 | 95.1 | 945 [101.2 1025 [100.0 | 17 |589.3
oP| 1 4 | M| MNEB BA AR 955 | 979 [ 999 | 989 | 974 | 942 | 14 |583.8
9 | 1 7 M XBE ®B=E IR E 942 | 974 | 943 | 97.7 |100.0 [100.0 | 13 |583.6
10 1 13 | M INK [E— IR 974 | 939 | 962 [ 991 | 924 | 919 5 570.9
11 ] 1 11 [ M Bl EE IR E 922 | 96.1 | 966 | 984 | 90.5 | 95.9 9 [569.7
12 2 12 [ ™ JKEE BB IR E 941 (896 916 | 914 | 939 | 915 | 4 |[552.1
FR60PRSC 1518F 9:40~10:30
NBr| S8 | 5F FE| 1% EFH g 1 2 3 4 5 6 |[XBa| §

1 1 17 |m| =M =i IR E 1005 [ 100.0 | 96.7 | 97.0 |100.8 |100.3 | 15 |595.3
2 | 1 21 | M oK = IR E 99.1 [100.2 | 976 |101.1 | 98.7 | 976 | 13 |594.3
R 19 | M /A B IR E 899 [ 857 [91.4 | 939 |881 |912 | 4 |5402




